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The number 546 is the same as 500 + 40 + 6. In other words, 546 = 500 + 40 + 6.  

 

Write the correct number on the box.  

 

                                                              734 = 700 + 30 +    4 

 

     seven hundreds, three tens, and 4 ones =     7         3       4 
 

Write the number in the box that would make the statement true.  

    712 = 700 + 10 +                                                             656 = 600 + 50 +  

    534 = 500 + 30 +                                                             759 = 700 + 50 + 

    923 = 900 + 20 +                                                             439 = 400 + 30 +  

    435 = 400 + 30 +                                                              670 = 600 + 70 + 

 

Write the number in the box that would make the statement true. 

 

    834 = 800 +             + 4                                                     603 = 600 +           + 3 

     

    540 = 500 +             + 0                                                     710 = 700 +           + 0 
 
 

Write the number that is being described by the words on the left.  

 

    eight hundreds, six tens, four ones  

 

    seven hundreds, six tens, three ones  

   

    five hundreds, four tens, two ones  

 

    two hundreds, eight tens, four ones  

 
 
 
 
 
 

 

2.NBT.A.3 Place Value of Numbers 

 

 

2.NBT.A.3: Read and write numbers to 1000 using base-ten numerals, number names, and expanded form.  
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The number 546 is the same as 500 + 40 + 6. In other words, 546 = 500 + 40 + 6.  

 

Write the correct number on the box.  

 

                                                              734 = 700 + 30 +    4 

 

     seven hundreds, three tens, and 4 ones =     7         3       4 
 

Write the number in the box that would make the statement true.  

    712 = 700 + 10 +     2                                                       656 = 600 + 50 +   6 

    534 = 500 + 30 +     4                                                       759 = 700 + 50 +   9 

    923 = 900 + 20 +     3                                                       439 = 400 + 30 +   9  

    435 = 400 + 30 +    5                                                        670 = 600 + 70 +  0 

 

Write the number in the box that would make the statement true. 

 

    834 = 800 +     3       + 4                                                     603 = 600 +    0      + 3 

     

    540 = 500 +     4       + 0                                                     710 = 700 +   10      + 0 
 
 

Write the number that is being described by the words on the left.  

 

    eight hundreds, six tens, four ones                    8           6        4 

 

    seven hundreds, six tens, three ones                  7          6         3 

   

    five hundreds, four tens, two ones                     5          4         2    

 

    two hundreds, eight tens, four ones                   2          8         4    

 
 
 
 
 
 

 

2.NBT.A.3 Place Value of Numbers 
Answer Key 

2.NBT.A.3: Read and write numbers to 1000 using base-ten numerals, number names, and expanded form.  

 


